SORUTTONS=> 6.4 GSETTLRRE fon.

l. Mo-‘rch cach quadratic function with 1+s

1)

Corresponding ~parabola

v + )= H-x)
e S é:& (-‘+)ix)]

T L= - (xr 0%t

s Motchs b) FO)=(x+1)(x-4)




Matehs a) L= (x-1)(x+4)

. s ) Fx)=Q1-
Matchie) € x)z_[(_ﬁ)x(ﬁzrxtﬂw

> = -(%=1)(x+4)




Matehs o) €)= (x+1(x+4)

Match s d) F(x)=(x-1)(x-4)



3. A quadrotic function has an equation
that” can be wreitten in +he form
£ = a (x-r)(%x-S). The araph of the
Lunction has X-intercepts X=-2 and
X=4 and passcs -!-hrookph point (5,7).
Write +he equation of+he quadratic
function.

Lx)=alx-r)(x-s)

= ny=a (X—=2)(x-4)
= g= o (X +2)(xX-1)

r=-2,s=4, (5,7)
N
i

7 =a(5+2)(5-4)

T =a(C1N0) o find

1= 4a ‘o

27 A Subshtute Xx=58&u="1.
l = Q J

=1 (x+2)(x-4)

4
€



wadratic fu nction, determine

the X-interdepts , the ;J"fn-l-crcep‘\',
{G—d} +he equation of the oXis of symmetry,
and the cocordinates of the vertex of

the qraph.
a) FIx) = =0+ 1)

4. For =ach

X-interceptss X=r and %X=S
K=1 xX==-1
-intercepts C=Q-r-S
J ¢ =W
c=-1
Axis of Sy mmetrrys X= xS
U
X=1+-1
Z
X= QO
X
X =0
Uertex s Ox=1DCx+1) (0,~1)
(o-1N(o+1)
0y

(X=0) %z
=
N



b) £(x) = (X+2)(%X+2)

Kntercepts s X=r and %X=S

X=-2,  x=-2, (SAME)
y-intercepta C=Q-r-S
J c= E2)¢2)

C=4

Axisof S\vmmc+r_3 . REEER

2



Q) ) =(x-3)(%x-3)

S
=3 C(SAME)



d) "F (‘X) -—-—2,()(_2)()(_,!-1)

X—intercepts s X=r
xX=2
B*iﬁ"rercep-{- &

L= S =-2,(05-2X0.5+1)
= -2(—-'5') HS)
= 45

(0.5,45)



) " 10. For each quadratic function below

ar .

i } 1) use partial 'FQC.JFOﬂ'ﬁa +o determine
two points +hat are™ he same distance
from the axis of symmetry.

i) determine +he Coordinates of +he vertex.
i1i1) SKetch The oraph.

a) 1) FX)=x*+4%x-6
FX)= x(x+4)-G&

=0 Or X+4=0
X =4

Two Poinds
FO=G =6 (0-0)B Cu -6)

1) T locate the vertex:

X=Q+-4 FE2)=02)* +4¢2)-6
2 4-8-6

X= -4 4G
2 =-10

X=-2 Uectexs ¢2,710)

T
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. Determine the equation of the quadratic
jasd} Function +hat defines €ach parabola.

o)t .1 [ X-interceptss x=~% & X=%
I' : r s

OB o @
i

: -%)
Uertex (%, g

SRR M
N g = alx=r)(x-s)
N/ Y= alx--2)(x-6)

Y= alx +2)(X-6)

To finda s
-8 = a(2+2)(2-6)
-8 = ad)t4)



x-intercepts & 'X=9<3>‘X=%
r S
Uecrtex : (3,9)
| vy
i

=a(x-r)(x-s)
%S a(x-0)(X-G)

= (X )YX-G)

To finda
9= al(3)E-6)
q=a@R)¢3)






	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13

